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SECTION 1
Use the rﬂdﬁp]é cholce answer sheet for Questions 1-5

1. What Is the value of ab if the lines ax + 2y = 6 and 4y = bx — 9 are perpendicular?

!
2. Express x- o with a rational denominator given that x = 3 47
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3. Ifsing = % and cos § < ¢, what is the exact value of tan 26?
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What is the solution to the Inequality -

L <4
5o

! -
y -

1t

il e 1l
A, x<-jand = .
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B. . x>—2and x5
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C. x < 2 and xZ:;
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D. x> 2 and x=<o

. 231 x2—4x-5
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SECTION 2
Total Marks (61)
Attempt Questions 6-11

Ariswer each question in your writing booklet starting each question on anew page.

(@

QUESTION 6 - (10 Marks)  Start on a new page.
Solveforx ¢ 2.2¥—-5= :—i— ~
{t) The i)oint (6, k) is 8 units from the straighf: line 3x+4y+2=0. ]::'jnd k
(c) (1) On the same di.agram sl.(etch theA graphs of | |
v =[x~ 2} and y=%
(iiy  Forwhat values of x js- |x—2] < %
{d)  Determine if f(x).= x3 = sinx is odd, even or neither. Show all working. .

End of Qli'estion 6




QUESTION 7

(&)

(®)

©

d

(10 Marks) ‘Start on a new page.

Find the acute angle between y = 2x — 1 and 3x -+ 2y — 4 = 0 correct

to the nearest degree.

Find the co-ordinates of the point P(x, ) which divides the interval joining

the points-A(—4, 5) and B(5,—1) internally in the ratio 2:1.

Find the greatest possible domain of |
_ 2%

- x=7

(i  Express v12sinx + 2cosx in the form R sin(:x+r;c) where R > 0

and 0 < x < 90°

(i)  Hence solve V1Zsinx +2cosx = —3 for 0 =< x <360°

End of Question

—
(d)

(10 Marks) ~ Btart on a new page.

QUESTION 8
{a)  If cot(5x— 40)° = tan(3x + 10) °, evaluate x.
(b)  Find in exact form, the value of sin 75°
{©)  Use't results to prove
1+sihx—cosx x
————— =tan-
1+sinx+cosx 2
() Provethat S = 10029 4 cos?e
. cos*d
(@  Solve v3tan20—1 =0 for 0 <6 < 360° -
QUESTION & (10 Marks)  Starf on a new page.
()  Find the equation of the stralght line passing through (3, 6) and also passes
through the intersection of the linesx - 2y =0 and 3x +y+ 7 =0
(b ‘The point (-5, -4) divides the interval joining {1, 5) to (p, q) externally in the
ratio 3:2. Find the values of p.and q.
© Using t= tang solve the equation sinf +Zcosf =1
given 0 < & < 360° (give your answer in degrees to the nearest-minute)
) . I-tan?A = -
Prove the identity vy 0SZA

End of Question 9




QUESTION 10 (0 Marks)  Start on a new page,

(a} Theline3x + ky — 5 = 0 makes an angle of 135" with the positiw.ie x axis.

. -3 .

(i) Show that the gradient of the line is > 1

iy  Find the value of k. _ 2
()

P !

In the diagram, the point Q is due east of B

The point R is 38km from P and 20km from Q.

The bearing of R from Q is 325°

6)] What is the size of angle PQR? 1

(i)  What Is the bearing of R from P to the nearest minute? 3
@ ()  Showthat cosec2f — cot28 = Land p;

(i)  Hence find the exact value of tan22.5° 7 1

End of Question 10

QUESTION 11 (11 Marks)  Start on a new page.
(a). Solve for x: |x®—5|=5x+9

(b}  From three points A, B and € on level grounci, the'angles of elevation of the
top T of a hill are 32°, 30%and 25° respectively. Point A is due west and C is due
south of the hill H. Point B lies on the straight line AC.

Copy Figure 2 into your writing booklet.

(1 Find aﬁ expression for AH-in terms of A.
(i)  Show that £ZHCA = 3644’

(ili}  Find ZHBC correct to the nearest minute,

{iv)  Find the bearing of Hfrom B

c

hcosasing

sin{eg— £)

{©) Showthata =

End of Examination
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